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Lesson 11 –

Formulae and rearranging

Lesson objective:

Rearrange an equation to calculate 

the answer to a question



STARTER

What is the equation triangle 

for magnification?





Ruler shown on next slide





Scanning Electron Microscope (SEM)

20 20 000

Magnification =
Image

object =
20 000

200
=   100 x



Ruler shown on next slide





Scanning Electron Microscope (SEM)

12

Magnification =
Image

object =
12 000

6
=   2 000 x



Ruler shown on next slide





Transmission Electron Microscope (SEM)

50 50 000

Object size =
Image

magnification
=

50 000

10 000
=   5µm



Can you rearrange this?

1. 𝑙𝑖𝑔ℎ𝑡 𝑖𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦 =
1

𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒2
to make distance the 

subject of the equation?

Remember this equation from Bioenergetics / photosynthesis?



Can you rearrange this?

1. 𝑙𝑖𝑔ℎ𝑡 𝑖𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦 =
1

𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒2
to make distance the 

subject of the equation?

Light intensity x distance2 = 1

𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒2 =
1

𝑙𝑖𝑔ℎ𝑡 𝑖𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦

𝑑𝑖𝑠𝑡𝑎𝑛𝑐𝑒 = √(
1

𝑙𝑖𝑔ℎ𝑡 𝑖𝑛𝑡𝑒𝑛𝑠𝑖𝑡𝑦
)


